Name:

(Addi’rion)

b. 4,026 + 894 =

c. Throughout the summer, anice
cream shop sold 8 413 vanilla
cones and 6,982 chocolate
cones. How many ice cream

cones were sold in all?

Show your work.

answer.

d. On Saturday, 7,935 people visited
the zoo. On Sunday, 5,841 people
visited the zoo. How many total
people visited the zoo over the
two days?

Show your work.

answer.

e. Fillin the missing value.

whole

4,319

726

part

part

f.  Fill in the missing digits.

1|3
+ 1,78
9.0 125
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ANSWER KEY

(Addi’rion)

1
2,619

+ 3,477
6,09 6

b. 4,026 + 894 = _4,920

11
4,026

+ 894
4,920

c. Throughout the summer, anice
cream shop sold 8 413 vanilla
cones and 6,982 chocolate
cones. How many ice cream
cones were sold in all?

Show your work.

1
8413
+ 6,982

15,395

answer: 15,395 ice cream

cones

d. On Saturday, 7,935 people visited
the zoo. On Sunday, 5,841 people
visited the zoo. How many total
people visited the zoo over the
two days?
Show your work. 1
/7,935

+ 5,841

13,776

answer: __ 13,776 people

e. Fillin the missing value.

whole
5,045
4,319 /26
] : part part
4,319
+ 726
5,045

f. Fill in the missing digits.

1

8|, 1|43
+ 1,7 8|2
2.0912 5
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